: Area Under the Curve
e the area under the curve of the given information.

®between 1 and 3 using 16 rectangles
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Definite Integrals

Definition of a Definite Inteqral:

n
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Fundamental Theorem of Calculus - Area
be continuous (hence integrable) on [a,5] and let F be any antiderivative of £~ Then
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ite the area that is above the x-axis and below the curve of y = —x* + x +6.
e graph and shade the area.




—

late the area between the given limits, the calculate the total amount of area (treat
as positive) for the graph of y = x° - 6x +2 from x =1 and x =3. Sketch the

1 shade the area under the curve.




